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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iit) Section A — Questions no. 1 to 17 are Multiple Choice Type Questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 18 and 19 are Source-based Questions. Each
question carries 3 marks.

(v)  Section C - Questions no. 20 to 23 are Short Answer Type Questions. Each

question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

(vi) Section D - Questions no. 24 to 28 are Long Answer Type Questions. Each

question carries 5 marks. Answer to these questions shall be written in
120 to 150 words.

(vii) Section E - Questions no. 29 and 30 are Map-based Questions. Each question
carries 5 marks.

(viit) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice given in the question paper. However, an internal
choice has been provided in a few questions in all sections other than Section A.

SECTION A

Questions no. 1 to 17 are Multiple Choice Type Questions. 17x1=17

1. Choose the correctly matched pair.

(Town,) (Example)
(A) Mining Singrauli
(B) Garrison Kandla
(C) Transport Modinagar
(D)  Administrative Pilani
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2. WA ¥ (EfIRad § § SiH-81 T Al T e ?

(A) | (B) <<
(©) JFama (D) T
3. A o Fefafad TR 6 3o foe™ & 3R @ y=adq @ 9999 & v °
fed ST 3T T2t faeney o1 === Fifse |
I. qAGTH II. SRt
1. T IV. SER
%IT:WLT :
(A) LIV, IIL 11 (B) L IV,IL III
(C) I, L1IV,III (D) IL L IIL IV

4. WA H WS hl AT H GUR B 3 forg Faferiiad § & spi-wt st srearford gg 2

(A) AT AT (B) Al =gyt ArsMT
(C)  Iur-afaror nfemy IsHT (D) Su-aia g AT

5. Frrarwem R muE | 3 ik (A) SR HROT (R) § | QT AT T g 9fey
3R ALY Torsheq T = ShiT |
371 (A) : Gl Skl (slum settlements) H Wehl, T&TEed T YaSTel 3T(Q
T STTARIHATHT T ST I ST € |
RO (R): R I et gl sfarat o Sfier =T Torem § Ferr o o forg
TS T [HRT 3T ST foram |

ﬁw:

(A)  (A) 3R (R) IFTHE & IR (R), (A) HT T AT |

(B) (A) 3R (R) IAT &t €, AFRA (R), (A) Fit ot AT 72T 2 |
(C) (AW, AfkT (R) TeAd & |

(D)  (A) TS &, Aok (R) F&T 7 |
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Which one of the following is an industrial town in India ?
(A) Salem (B) Chandigarh
(C)  Nainital (D) Shillong

Arrange the following towns of India from the oldest to the newest on

the basis of their evolution and choose the correct option.

L. Lucknow II. Varanasi
III.  Bhilai IV. Jamshedpur
Options :

A LIV, IILII (B) L IV,II, III
C©) ILI1IV,III (D) 1L, L, III, IV

Which one of the following plan was introduced to improve the conditions
of roads in India ?

(A) Nagpur Plan (B) Golden Quadrilateral Plan
(C)  North-South Corridor Plan (D) Twenty-Year Road Plan

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option.

Assertion (A) : Lack of basic necessities such as housing, health and

drinking water, etc. are found in slum settlements.

Reason (R): The Government of India launched the ‘Swachh Bharat
Mission’ to improve the quality of life in urban slums.

Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C) (A)1is correct, but (R) is incorrect.
(D)  (A) is incorrect, but (R) is correct.
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farve SR w@eT (WTO) @ weifera fmfefaa o @ ot foered o1 =am dhifsw |
(A) A e 37 2w U 38 (GATT) 3aeh! qelard e oft
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(A)  fufteer eer (B) sicd®
(C) =g qTcy™ (D) et o fufee

e ToRaTeRaITdl oh! T foRTTaTstl i SYesh UTeT 3T Hel foehed i ==
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I. 389 Nifdeh soo HTeT T THEHTT M 2 |

II. I Qarel & U 2 |

1.  Sgd-df dand atfq e & |

V.  fosrelt o faef, e, aehic, =1ersh 34 F© /e & |
[EETe

(A FIA L, IR I T E |

(B) Fad I, I 3RV &)

(C) wAAL IIRIVESE |

(D)  ad II, 11 3R IV 9t 8 |
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6. Choose the correct option from the following related to World Trade
Organisation (WTO).
(A) The General Agreement on Tariffs and Trade (GATT) was its
predecessor
(B) 149 countries were its members as of 2016
(C) India became its member in 1984
(D) Its headquarters is located in New York
7. Consumption of information-based services come under which one of the
following sectors ?
(A)  Primary (B)  Secondary
(C)  Tertiary (D) Quaternary
8. Who among the following considered an increase in freedom of the people
as the main objective of human development ?
(A) Mahbub-ul-Haq (B) Ehrlich
(C)  Amartya Sen (D) Meadows

9. “The number of people would increase faster than the food supply.” This
concept was given by which one of the following ?

(A)  Griffith Taylor (B) Brundtland
(C) Thomas Malthus (D) Walter Burley Griffin

10. Read the following characteristics of tertiary activities carefully and
choose the correct option.

I. It is involved in processing of physical raw materials.

II. It is an output of services.

III. Many of the services are highly specialised.

IV. Electrician, doctor, lawyer, driver are some of its examples.
Option :

(A)  Only I, IT and III are correct.

(B)  Only I, IIT and IV are correct.

(C)  Only I, IT and IV are correct.

(D)  Only II, IIT and IV are correct.
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11.  HiAA-1 T Hiaq-11 ¥ Fira HifST 3T gt foehew st ==  Fifse |

HIcTH-1 HIcTH-11
(sfatfedr =R % (ferran)
STER)
a. TR HEeAT i Tg S sftem =t fatfa Far g |
b, @S dETe ii. I @S HETe e i war g |
c. Sy iii. 78 3N forehme % g STTaR oM T & |
d.  HiEHidE FwH iv. 3hFe (FRTew) SR HIeTet o1 fosh™ $6eh 1T
frerifed grar 2 |
forhea
(A) a-ii,b-iii,c—i,d-iv (B) a-ii,b—-iiij,c—iv,d -1
(C) a—ii,b—ii,c—iv,d—i (D) a—iii,b—ii,c—i,d —iv
12. STl 1 STRIEIGH o AT § ORI ST &, 8T o hHaTil oh fHFferiad forIsratt
1 SAHYE UfgU S T forehed 1 =15 shifery |

I W& 37 AT hl Suetsdm

[I. Y A HHATHET bl FAUST 9TT 9T A3 Uhg

III. 37 hieret & quf 37X S1=a1 a8 Wi fohT ST aTed e
IV.  UTE% U8l 3T et Het Haral sl giaamd

IECTR R

(A) FHad I, IR EE & | (B) had [, I 3MMIVERT |

(C) e I, III IV Ee & | (D) ahaet I, 111 ST IV & T |
13.  forepreiiet ot o foTg ek samame st Ffeiad 3§ 9 -6t g1 & 2

(A) TTA &1 EH-ISH (B) HTA I EfUT

(C) oA & GHEH (D) T T =T

14.  WET YQX o HEAT oA § SIT-6wE JeferT SrishH ol 9he dererd farfiad & &
Torereh g forg-wifer o 2
(A) TR de
(B) ST TSt S
(C)  TET G¥ TR
(D) % WHR
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11. Match Column-I with Column-II and choose the correct option.

Column-1 Column-I1
(Basis of International (Feature)
Trade)
a. Geological structure i. It determines the biotic life.
b. Mineral resources ii. It determines the mineral resource
base.
c. Climate iii. It provides the base for industrial
development.
d. Cultural factors iv. The development of crafts and skills is
determined by it.
Options :
(A) a-ii,b—iii,c—1,d—-1iv (B) a—ii,b—iii,c—iv,d -1
(C) a-iii,b—-ii,c—iv,d-1 (D) a-iii,b—-ii,c—1i,d-1iv

12. Read the following characteristics of workforce carefully, where work is
performed through outsourcing and choose the correct option.

I. Availability of cheap and skilled workers

II1. Good English language skill of involved workforce

III.  Highly-skilled well-paid professionals

IV. Facility of customer support and call centre services

Options :

(A)  Only I, IT and III are correct.  (B) Only I, IT and IV are correct.
(C)  Only I, IIT and IV are correct. (D) Only II, III and IV are correct.

13. Which one of the following is the disadvantage of ‘free trade’ for
developing countries ?

(A)  Goods exchanging (B) Goods dumping
(C)  Goods purchasing (D) Goods selling

14. The successful implementation of watershed management programme in
Jhabua district of Madhya Pradesh was funded by which one of the
following ?

(A) Non-Governmental Organisation
(B)  Jhabua District Administration
(C) Madhya Pradesh Government

(D) Central Government
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DT Pl LAY qIgT 3R 1< 19T 71Q 3374 §&T 15 € 17 % I FIrT |

A 31 3Tk HiTdeh UITSRUT H Harer

ATTH! 36 T2 T T8t ¥ & A9 ST foh Tk Ty o &9 1 T T GUHR qeal!
! HIFE o O o ®Y § GAGHT 3 37 G+t a0 hT TSI HT 2, =i 9 sl Qv fomam
& | A, THId AT % LI T A el & | AT IFTTH Ll foh 9Tt § gaTe T R
TH AR o AUH Tob-fodeh AR & ¢ % 71 fawy & w9 F i w fH7m
TR/ fagTd R (AmAfees) 1aT faaruners (TrafemTee/3fedmnithe) BT 91T |

TS 9 SNt it TERAr & 19 wifie Tl ¥ SR T § | "
TEEqt T 2, o we @ Sea o Fmfor s # afee a7 stera wewel @ fF 9w R
SUHTUTT 3T qah1ohl oh! TETIAT & ScqTe 3T oo shtar 2 |

STrenfireht foret HTST o Tiehiah fohre & T hf ok Bt & | 7 Tafa o fremt
1 SIE ST H WHE 6 oI1G &1 ST Tehl T forehrer st amar |

15. f=fefaad 8 @ forey ama o6t s<ur s Trenfieht o foemfia 0 § wgrar i 2 ged
S forehed T < shiTSTT |
(A)  JAH G
(B) =3k i @ISl
(C)  wepfcr o Tt shY SrgaT vt
(D) 3~Td STNTehT SRT Sehid o BT ga ¥ueh

16. It H Yot o Gt i G0gH & [7g, FfaRad # € SiH-81 AW & ?
(A) TR 37 shHeg
(B) Wed SR AT
(C) FiregamE 3 d@veare

(D) EWIATE R FAHTEIEE

17. U fooT o &9 § et o & TR HETRad # 8 HF-6T 8 ? a8 S0 fashed
T TR HIT |
(A) YA TFIHF W FHEIH
(B) Tl Wi fohiTed & e o U |
(C) vt uyfora s s sad
(D) Y gEHmHETH
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Read the passage carefully and answer the questions no. 15 to 17.

Relation Between Humans and their Physical Environment

You are already aware of the fact that the core concern of geography as a
discipline is to understand the earth as home of human beings and to study all
those elements, which have sustained them. Thus, emphasis is on study of
nature and human beings. You will realise that geography got subjected to
dualism and the wide-ranging debates started whether geography as a
discipline should be a law making/theorising (nomothetic) or descriptive
(idiographic).

Human beings interact with their physical environment with the help of
technology. It is not important what human beings produce and create but it is
extremely important ‘with the help of what tools and techniques do they
produce and create’.

Technology indicates the level of cultural development of society. Human
beings were able to develop technology after they developed better
understanding of natural laws.

15. Which one of the following helped human beings to develop high order of
technology ? Choose the most appropriate option.
(A) Invention of fire
(B) Invention of wheel
(C)  Better understanding of natural laws
(D) Better interaction with nature by advanced technology

16. To understand the earth surface in geography, which one of the following
is inseparable ?
(A)  Regional and Systematic
(B) Nature and Human
(C)  Determinism and Possibilism
(D)  Possibilism and Neo-determinism

17. The core concern of geography as a discipline is which one of the
following ? Choose the most appropriate option.
(A) Earth as home of human beings
(B) Earth as home of plant kingdom
(C) Earth as home of animal world
(D) Earth as home of landforms
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97 G&IT 18 UG 19 Gla-3TemRa g97 2 | 2x3=6

18. U ww a1 =oe i e ufel TR 36 el fau ¢ THT & I T -
LIECREEaL)
HETaHT qo U5, TaTee U v are foen o 96 fog € | 37 el F & e
T 3 T SRk Tarehi ot forshrer fopam T 2 |
ST SN H 37O ST foehedl sl a3 S oh1 &aT ST Tl Tel ardt | 8
T ITH T T STFHAT Seh! siifereh Feiar, Trmferes WawTe, Temel shi STerwar 3T

3T HIUN T S8 U & GohdT 2 | 369 A8 U ey Sfiae S, e wife o O 8
3R U f31m Sl S & |reHT sl 9Te S | ST AT R

AT o foeredt T gfg A o foTg wmeed, RTe T HEreEr 9% uga o ekt
gHaTstl sh1 FHTOT AT WEequl € | A T & H A Al arwen et @, v foehed ot
i 8 ST & |

JETEI: Tk AR Soal ST o T foehed T8l I Fohell FAiToh 6T

forereu fRtem & sramer o Hifta & T 1 3 gwr, yr: e o i F g
TarforcaT ST et <7 Tehd FAToh HHTEHT o 3THTE H ST forehed |THd & a2 |

(18.1) 7 forehrer o fereell a1 &= o I feaflaw | é+é=1
(18.2) Tohrel &1 IV ohT Ieci@ ShITSTY, Seht aIsTe & HATATO forehed! ! 7 L h1
AT 37T T el =il | é+é=1

(18.3) 30 STTAT 1 AT HIC ST AN & A4 & AUHR I R
2l 1
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SECTION B
Questions no. 18 and 19 are Source-based Questions. 2x3=6

18. Read the given passage carefully and answer the questions that follow :

Human Development

Access to resources, health and education are the key areas in human
development. Suitable indicators have been developed to measure each of

these aspects.

Very often, people do not have the capability and freedom to make
even basic choices. This may be due to their inability to acquire
knowledge, their material poverty, social discrimination, inefficiency of
institutions and other reasons. This prevents them from leading healthy

lives, being able to get educated or to have the means to live a decent life.

Building people’s capabilities in the areas of health, education and
access to resources is therefore, important in enlarging their choices. If
people do not have capabilities in these areas, their choices also get

limited.

For example, an uneducated child cannot make the choice to be a
doctor because her choice has got limited by her lack of education.
Similarly, very often poor people cannot choose to take medical treatment

for disease because their choice is limited by their lack of resources.
(18.1) Name any two areas of human development. — +é =1

(18.2) Mention any two reasons which lead to lack of capability and

freedom to make even basic choices. —4+—=]1

(18.3) Explain the condition in which the choices of people are

restricted. 1
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19. U ww amfE 1 emgde st HiT It 38eh e 3 1T et % 3T S

10°

-
50°

(19.1) "o # o T STemT @t 19 faRaw | 1

(19.2) Rumgamf i (A) 3 (B) % & i sifpa womt 3 T fafay | é%:z

(19.3) ATk SITHTT o ®F | 7T o AT1fh A shl SATEAT ShIfNIT | 1
qe . FHEICTRaT T9 Fhacl greaTiera TRgterat & o7q S &1 19 & T W E |

Torger & Srermmt % il wexa Y sTEET ST | 3
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19. Study the given map carefully and answer the questions that follow :
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(19.1) Name the waterway given in the map. 1
. 1 1
(19.2) Name the ports marked (A) and (B) on the given map. 7 +§ =1
(19.3) Explain the economic significance of the river as an inland
waterway. 1

Note : The following question is for the Visually Impaired Candidates only
in lieu of Question No. 19.

Explain the economic significance of waterways in the world.
64/6/3| #
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Tug T
¥ GEAT 20 § 23 TTG-IHIT T | 4x3=12
20. T U Sl ST hl AHEAT o FATHH o felT ST Firsy | 3
21. WA H UTSUCATS Tiere Yottt ol e forewarait sl st shifsry | 3
22, FAfAREd OT% 1 SAHYEH HEAT HIFST 3T IHeh A=l faw T et 1 3 foaflaw

=9 IAN-=3E

(22.1) SHiToRehI WA TGTa oh STareelT 11 Y& SHETEAT i 3l SRR o T
I T HIT | 1
(22.2) SHifeRehTar TshrvT figia T T 13RI H 3Tt Ty Hifve | 1
(22.3) SHifheh wehmur fagia & ofawm III & 3Faiid AW a1 oul &l
GTTTSTeh- AT GRIT3TY ST vl shifsTe | 1
qe . FHETCTRad I9 Fhact greaTiera GRierTierat & o7q o7 €631 22 % T W a |
Siershtr EshHT forgia sht qea forsraratl i samean hifsry | 3
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SECTION C

Questions no. 20 to 23 are Short Answer Type Questions. 4x3=12

20. Suggest the measures to overcome the problem of noise pollution in India. 3

21. Explain the main characteristics of pipeline transport system in India. 3
22. Study the following graph carefully and answer the questions that
follow :
High Fluctuating
Stage Stage Stage
A 1 1 il
: Expanding :
35T :
& .
= .
{‘J L]
= | Low Fluctuating
1
':.J 1
L]
e | o
Bangladesh: Peru Sri Lanka . Canada
Present |Halnforest. Kenya Japan
World tribes = ¥ Usa
examples : Time )
L] L]

Demographic Transition Theory
(22.1) Explain the reason of high net population increase in stage II of

demographic transition theory. 1
(22.2) Differentiate between stage I and III of demographic transition
theory. 1

(22.3) Describe the socio-economic conditions of countries under
stage III of demographic transition theory. 1

Note : The following question is for the Visually Impaired Candidates only
in lieu of Question No. 22.

Explain the main characteristics of demographic transition theory. 3
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23. (F) i G TTT SN 36 U8 Tax hl He7 forRredrat i samen hifse | 3

aTeET

(@) TS WHET IO ST 6k I8 v ohi HE&T RISl shi AT i | 3
ECLER)

99 G 24 G 28 A ITHIT TH R | 5x5=25

24. WA HY H T@ wHE & FERer 89 HiE ui gHre A SR ST s

Hife | 5x1=5
25. (%) fova ¥ foreqa anforsar ST i sht S forweredl s fergeiwor hifS | 5
TUT
@) forea o aforsy uxpeH arer e feryarst gt Hifs | 5
26. (%) “IUNT, ANTT HH ik, AT I STIhad Hd & | IS Aled 39 HIT T
AT T | 5
YT
(@) oo OIS o JATIR YT I o I 1eRL0T Shl SSTEL0I Higd TI8 hifY | 5
27. (%) YA & NA-UW JoEH T JuISTed HURUT & HEw bl T WY | 5
AT
(@) A i TR STt ifer sht srpe fereoaradt st waw shifery | 5
28. () WIRA W SHUEAT Fg, 3T & =TTl s forgeryor Sifse | 5
AT
(@) ORd ¥ STEEAT & 99 faawor & fu savert fordl uie seht 1 fageyor
HIfSTT | 5x1=5
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23. (a) Explain the main characteristics of Kolkata sea port and its
hinterland. 3
OR
(b) Explain the main characteristics of Mumbai sea port and its
hinterland. 3
SECTION D
Questions no. 24 to 28 are Long Answer Type Questions. 5x5=25
24, Suggest any five measures to solve the main problems of Indian
agriculture and explain them. 5x1=5
25. (a) Analyse the main features of extensive commercial grain
cultivation in the world. 5
OR
(b)  Analyse the main features of commercial livestock rearing in the
world. 5
26. (a) “Industries maximise profits by reducing costs.” Explain the
statement with examples. 5
OR
(b) Explain the classification of industries on the basis of raw
materials with examples. 5
27. (a) Explain the importance of rainwater harvesting in watershed
management in India. 5
OR
(b)  Explain the main features of India’s national water policy. 5
28. (a) Analyse the regional variation in population growth in India. 5
OR
(b) Analyse any five factors responsible for uneven population
distribution in India. 5x1=5
19 P.T.O.
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Qs &

97 G&IT 29 TS 30 HHI<H-TRA T3 3 | 2x5=10

29. feu e fova & Teifae WET-AmlE (I8 25 W) H, |1d imfcis d&v @ A, B, C,
D, E, F 3T G & &9 4 Jiferq fopam mar 8 | FfciRad STeepit ht gemrar ¥ fomeel
gier Y Ug= HINT SR 3 Tl T19 Ie gHia Tt 78 w@rsh w fafae 5x1=5
foreqa anfors T iy 7 o &
fafes dueor &1 v &

T S W

Ush g oy o

T @ WS 6

TCTETE AT T T T &
T AT ST

Q= E o 0w »

Al :  FFCTRI 37 Fact GIEaTierd qaerTtear & fo7g I3 ST 29 % € WE |
fwfctfaa 4 € fobeel aier 321 % It T 5x1=5
(29.1) ITRY 3fEent o forea ATfors TS Y % U &t o1 1 foAfew |
(29.2)  3TShIsh o Tk Tq@ Faie €uewr & o1 9 feffaT |
(29.3) I IUY o T THE FHE 05 ol A oA |
(29.4) I STHIEHT o SFEAV HIT o Ueh T A1 e o1 T oA |
(29.5) f&FUT STShieRT o Uk S |HE Ui o1 AT ffla |
(29.6) 3T TURTAT o Teh T SIcTalTelT TRT=IOT & 3T A1 e |
(29.7) Tor& % U ATl ST o1 A fofa |

~
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SECTION E

Questions no. 29 and 30 are Map-based Questions. 2x5=10

29. On the given political outline map of the world (on page 25), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. An area of extensive commercial grain farming

B. An area of subsistence gathering

C. A major sea port

D. A major airport

E. A major sea port

F. A major area of nomadic herding

G. An inland waterway

Note: The following questions are for Visually Impaired Candidates only
in lieu of Question No. 29.

Answer any five questions out of the following : 5x1=5

(29.1) Name an area of extensive commercial grain farming in
North America.

(29.2) Name a major area of subsistence gathering in Africa.

(29.3) Write the name of a major sea port in northern Europe.
(29.4) Name a major airport in the southern part of North America.
(29.5) Name a major sea port of South Africa.

(29.6) Name a major area of nomadic herding of northern Asia.

(29.7) Write the name of an inland waterway of Egypt.
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30. Tou TT wRd o UsHITR @I-AFRE (T8 27 W) §, HrfaRad g i deon 5
& Toreel wier 1 U Foral ar siferd IR 3T 3eh = e 5x1=5

(30.1) HUTE 3cUTE | YU T

(30.2) BHIEIE  Sfuft WIT § Reord o 37erees hl @
(30.3) FRWUS & I 9T | Ty qfel Y @
(30.4) TSI ST Ueh A& HHE Ue

(30.5) T[S oAl Teh SfLfefier Ty Ot

(30.6) HICTeHIAT GHE! U o STl ohl A LA b T SIHTAT AT e TG I

(30.7) < 3IcUTe | IO U

qe: FHEcIRad Jv SHact greaTiera GierTieran & fo7g o7 @&aT 30 % T W E |
fraferaa 7 | fae] aier 3941 & I e - 5x1=5
(30.1) THUTH 3cdTe H§ ST TS T 19 foTRaT |
(30.2) W T T T fARa et SeiierTg o vl I § oie 31 it @ R
g
(30.3) 3T TAM T 9 [ARIT STET FARGUE oh ITT 9T H qlel ol GH AT = |
(30.4) TIaT % 38 T T T FARGT SET Toh i@ T 0o STafeod ¢ |
(30.5) TSHIA o I T o1 AT fAREAT T8t Uoh Sieiedar oy o feor 2 |

(30.6)  HICTHIT HHET UTH o TelTal shl HH L o FIT SHIT 71T Teh WHS Ui ohT ATH
fefaw |

(30.7) < 3cUTe | Ui T T A1 fRaT |
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30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate
symbols : 5x1=5

(30.1) The state leading in the production of cotton

(30.2) Iron ore mines located in southern part of Chhattisgarh
(30.3) Copper mines located in northern part of Jharkhand
(30.4) A major sea port of Goa

(30.5) An international airport in Gujarat

(30.6) A sea port built to relieve the pressure of Kolkata sea port

(30.7) The state leading in the production of tea

Note: The following questions are for Visually Impaired Candidates only
in lieu of Question No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state leading in the production of cotton.

(30.2) Name the place where iron ore mines are located in southern part
of Chhattisgarh.

(30.3) Name the place where copper mines are located in northern part
of Jharkhand.

(30.4) Write the name of the place where a major sea port is located in

Goa.

(30.5) Name the place where an international airport is located in
Gujarat.

(30.6) Write the name of a sea port built to relieve the pressure of
Kolkata sea port.

(30.7) Name the state leading in tea production.
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99 AT 30 o foru For question no. 30
T Outline Map of India (Political)
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